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1.

«Uwmpttmhjuyh ojhuy hwljwmu dwujwmywmuwnbjuu dupqunupngy AOLY

Uhunynph
NN swithh qmjph gmuiwpp
/Yy anuph wtfutimin dpwynpp | pwiuwyp (r?gi%) (nnud)
1 |1gywd qunuy 1 Yyq huwn 2 9,000 18,000
2 | 19dwd qunuy 3 Yq hwwn 2 13,000 26,000
3 | 19dwd qunuly 6 Yg hwwn 2 29,000 58,000
punudbiup 102,000
2. «Gphwmuh othuyhwljwu dvwujwmwywmwutijuu dwpqunupngy ANTY
Uhunynph
NN swithh qmjph gmuwpp
o anuph utiuinide o | putip | S )
4 | dwgjgdwt yupwu hwwn 2 42,000 84,000
5 | dmuwpnih qunuy hwuwn 3 18,000 54,000
6 | puultinpnh qunuly huwn 3 26,800 80,400
7 | Quuniutip Inuyuqu 5 84,600 423,000
punudliup 641,400




3. «Gphwuh hpwagmpuu dwujuyumnuubljmu fwpqunpuypng» NOUY

Uhunynph
NN swiih qnyph gnuiupp
nyph wujwund u
Dy anueh widutinde L S (npun)
(npu)
8 | dwupwgqunuy 4,5 Ud hwn 1,000,000 12 12,000,000
9 | rundthnipn 5,6 Ud hwwn 71,000 167 11,857,000
10 | aywuniutp [nuluqu 6 84,600 507,600
punudbtiup 24,364,600
4. «<pwun Gwhhiymuh mujwu vynpumuwyh, ginupyiunujun twpduwdupgnipjut b wjpnpuwmhluyh ojhuwyhwlju
dwujuyumnuulijmu fwpqunupng»y NOUY
Uhunynph
NN swithh qmjph gmuiwpp
gnyph wujwundp ghunp
/ Uhwyn wuw wu
Yy hudnpp |- puiwlp (nnwd)
11 | pnhypuguing Inuiuqu 1 628,000 628,000
12 | dwqutighmd laq 100 13,000 1,300,000
13 | dupduwdwpquyjuu onuljutip qnuyq 2 47,000 94,000
14 | gtmupybunwluu dwupduwdwpgnipyuu onuy hwwn 10 47,000 470,000
15 | gimnupybunwiuu dwpduwdwpgnipjut dwwyuytiu thwynhlny - 10 52,000 520,000
16 | qiqupyunujuin dwpduwdwpgnipjuu gunwly hwwn 10 57,000 570,000
17} qmuptunutui. dwpduwdwpgnpiu pojuyw hwin 10 52,000 520,000
punudliup 4,102,000




5. «Shgqpu Ntmpnuywuh wuyjw jwjudwwmh mnv-dwupqunupngy ANTY

Uhunynph
NN swithh qmjph gmuiwpp
nyph wujwund u
/Yy anuph wtfutimin dpwynpp | pwiuwyp ar % (nnud)
()
18 | wjudwnh dwdwgnyg hwwn 20 27,000 540,000
punuudbtup 540,000
6. «Gphwuh dSwupwdwpnh duwujuyumnuutljmu fwpqunupng» NNUY
dhunfnph
NN swiih qnyph gnuiupp
nyph wujwund u
Dy anuph whtutimn thunnpp | putp | I (npun)
(npu)
19 | dwupduwdwpquju vunwpwu hwwn 3 62,000 186,000
punudliup 186,000
7. «(hujwupnipjmt dmpqualitiph ojhdyhujut dwujmyumnwmtijmu dupqunuypngy ANUYH
Uhunynph
NN swiih qnyph gnuiupp
nyph wujwund u
Dy anueh widutinde dhufopp | putnap | AR (npun)
(npud)
20 | Uninnpuwuwywl pupdhsny huwn 1 2,000,000 2,000,000
21 | puynuplu K-1 huwn 1 2,976,000 2,976,000
22 | phuy K-1 huwn 4 120,000 480,000
23 | phuy C-1 hwwn 4 120,000 480,000
punudliup 5,936,000




8. «lvwmuwyhu vmpqmabtiph ojhuy hwjuu dwhjuwyuwmwutju dupqunupng» ANTY

Uhunfnpp

NN swthh qnyph qnuiwpp
Dy anueh widutinde dpunpn | putatp | (T ()
24 | pwultinpnih qunuy huwn 40 26,800 1,072,000
25 | Yniypnih qunuy huwn 20 33,000 660,000
26 | ynitypnih gug huwn 5 16,000 80,000
27 | Yntgpnih Juugquwl Inuiuqu 2 298,000 596,000
28 | dmunpnih qunuy huwn 30 18,000 540,000
29 | $nmupnih nupywuh gug qnyq 4 68,000 272,000
30 | hwunpnih qunul hwwn 20 21,000 420,000
31 | hwunpnih pupywuh guug qnyq 4 32,000 128,000
32 | utinuuh ptuhuh qunuly huwn 500 400 200,000
33 | utiqpuuh phuhuh guug hwwn 6 20,000 120,000

punudbiup 4,088,000

9. «Chdwujuyht uynpwnh ojhuy hwjwn ywuljwmuymmwutijuu dwpqunupng» ANUY
Uhunfnph

NN swthh qnyph qnuiwpp
Dy anuph utiuinide o | putip | S )
34 | jtnuwyhu hidwuhy hwwn 10 150,000 1,500,000
35 | htowuyh wuyjwnnn 26x2.1 hwwn 20 12,000 240,000
36 | htidwuyh wujwfughly 26x1.75 hwmn 20 5,000 100,000
37 | hidwuyh wujwnnn 700x23 hwwn 20 12,000 240,000
38 | htidwuyh wujwiughly 700x23 hwwn 20 6,000 120,000

punudbup 2,200,000




10. «Lunu Swjpmytiinjuuh wujwu uvwdpnih b Gymnnjh ojhuy hwljwu dwujumwywmwkijuu dwpqunupng» ANUH

dhunfnph
NN swiih qnyph gnuiupp
nyph wujwund u
Dy anuph utiuinide o | putiap | S )
39 | gniypnjh muwnwdh Jnuwjuqu 1 6,000,000 6,000,000
40 | pnugpudwpunh mwudhy Juunyh hwuwn 1 56,000 56,000
4] | dwupduwdwpquu wyohy hun 1 142,000 142,000
punudliup 6,198,000
11. «3ynuipm hbupuyty Uhjhunuywuh wuwjwu dwipuiwpmph dwhjuyunwmutjut dupqunupngy DALY
Uhunynph
NN swiih qnyph gnuiupp
nyph wujwunmu u
Dy anuph wtfutimin dpuopn | putatp | T ()
42 | dwqubighmu la 50 13,000 650,000
punudliup 650,000
12. «Bmupnt unutipudwpuh dwujuyunuubjuwt dwupqunupngy NOUY
dhunfnph
NN swiih qnyph gnuiupp
nyph wujwund u
oy anuph wiutinie dhuopp | puttp | S (npun)
(npw)
43 | ppwuniubiph ptinp huwn 30 20,000 600,000
44 | Junguuniutiph Jtnp huwn 30 24,500 735,000
punudliup 1,335,000




13. «¥nuipm Lymnyhq Utmguljmiymuh wujwu ddinwh dwpquabbiph dwujwmyumnwmtijmu dwupgqunuypngy QN0

Uhuynph
NN swithh qmyph gmuiwpp
/Yy anuph wtutimin dpwynpp | pwiuwyp (th% (nnud)
npwi)

45 | nuhmly nuuwlwu néh hwn 8 266,400 2,131,200
46 | nwhni] wquwn nth huwn 8 279,000 2,232,000
47 | nuhmyh thwymbp nuuwlwuu néh huwn 8 55,800 446,400
48 | nuhnmlh thwywmbtipn wquun néh hwn 8 63,000 504,000
49 | nuwhnih wdipwly wquun nth hwwn 8 41,900 335,200
50 | nuhnijh wdpwl puuwlwu ndh huwn 8 36,900 295,200

punudliup 5,944,000

14. «3nuipm dwmujuyunwutjut hwdwihp dwpqunupngy AOTY
Uhunynph
NN swthh qnyph qnuiwpp
Dy anuph wtfutimin dpuopn | putatp | A (npun)
i)

51 | gnipnjh mwwmwdh Inuuqu 1 6,000,000 6,000,000
52 | pnugpwdwpunh nhug Inuyuqu 1 2,720,000 2,720,000
53 |1gywo qunwy 3 Yq hwmn 5 13,000 65,000
54 | dwqubighmu Iq 50 13,000 650,000
55 | pmuytinpnih qunuly hwmn 20 26,800 536,000
56 | $ninpnih qunuy hwwn 30 18,000 540,000
57 | pdppwdwnpwnh fupnyhjuy hwwn 4 78,000 312,000
58 | pnugpwdwpunh dwupqupewe huwn 10 16,000 160,000

punudbup 10,983,000




15. «Uyhmwyh dwujuyumnmuubkjumu hwdwjhp dwpqunuypng» NAOUY

Uhunynph

NN swthh qnyph qnuiwpp
Dy anueh widutinde dpunpn | putatp | (T ()
59 | 1gwo qunwy 3 Yq huwn 2 13,000 26,000
60 | Pmwupnih nupwyuuh guug qnyq 2 68,000 136,000
61 | dmunpnih qunuly huwn 10 18,000 180,000
62 | utimwuh ptuhuh qunuly huwn 500 400 200,000
63 | pdppwdwpunh fupnyhjuy huwn 2 78,000 156,000
64 | punuhupnuh nuljtin huwn 12 33,900 406,800
65 | puppwdwpnh gnpg dwdlngny Inuiuqu 1 2,290,000 2,290,000
66 | punuhupnuh thtwmpugunuy hwwn 5 1,700 8,500

punudbiup 3,403,300

16. «Cwnjuanph Luhl Supnipinuyyuuh wuydwu jEnbtwpuwhmjuyhn dwujuywnuubjut dwpqunuypng» ANUY
Uhunynph

NN swithh qmyph gmuiwpp
/Yy anuph wtutimin dpwynpp | pwiuwyp (ﬁﬁiﬁ) (nnud)
67 | 1tmuwunwhmly 140 ud huwn 2 340,000 680,000
68 | [tmuwnwhny 150 ud hwwmn 4 320,000 1,280,000
69 | jtmbwnuwhml 145 ud hwwn 2 320,000 640,000
70 | jimuwnwhnih wdpuuy hwwn 20 23,000 460,000
71 | tnbwnwhmyh énn hwwmn 20 29,000 580,000

punwdbiup 3,640,000




17. «bmquhl Gupuytimywuh wiywu diuwwwjpupuyhn dwpquabtiph ojhdwyhwjjm dwujuyumnmwuwutjuu twpqunupng» AOUG

uhuynph
NN swithh qmjph gmuwpp
/Yy qnuph winjuinuip o | putnp | AP (npud)
npwd)
72 | pdppwdwpwh gnpg dwolyngny Inuiuqu 1 2,290,000 2,290,000
73 | pdppwdwpuh jupnyhjuy hwwn 2 78,000 156,000
74 | mupnih gunuy hwwn 5 18,000 90,000
punudbtup 2,536,000
18. «Ubwup opuyht dmpquébbiph dwujuyumnmuubjmu fwpqunuypngy NNUY
Uhunynph
NN swithh qmyph gmuwpp
n/y qnuph wijulinuip Uhunfnpp | pwtlp (Qbu% (npu)
npwd)
75 | puynunplu K-1 hwuwn 1 2,976,000 2,976,000
76 | puynunplu K-2 huwn 1 3,390,000 3,390,000
77 | uunk C-1 hwn 1 1,000,000 1,000,000
78 | quunk, C-2 hwwn 1 1,250,000 1,250,000
79 | puynupyuyh gnqung huwn 10 61,000 610,000
80 | Uninnpuwuwywl pupdhsny Inuyuqu 1 2,000,000 2,000,000
punwdbiup 11,226,000
19. «Lpugnmuh dmjuuwjumunh b jwjudwmh ojhuiyhwljmu dwujuywmwubjut dwpqunupngy ANUY
dhwynph
NN swiih qnyph gnuiwpp
/Yy anuph wtfutimin dpwynpp | pwiuwyp (qbu% (nnud)
i)
81 | juninh hnllyh dwluu hwwn 100 30,000 3,000,000
82 | owfjuunh dudwgnyg hwwn 12 27,000 324,000




83 | dwjuuwjuwnh qunuy hwwn 200 5,800 1,160,000
84 | qhp 8 g qnyq 4 22,000 88,000
85 | owjudwnh ubtinuwu Inuyuqu 20 78,000 1,560,000
86 | 1gywd qunuy 3 Yg hwwn 2 13,000 26,000
87 | $nunpnih qunui huwn 4 18,000 72,000

punudbup 6,230,000

20. «Pwmompuinh hudwhp dwmujuyumnwutjut dfupqunuypngy NNUY
Uhuynph

NN swithh qnyph gnudwpp
Dy anuph wtutimin o | putnp | SV )
88 | pnugpuwdwpunh yuply hwwn 4 56,000 224,000
89 | 1gywd qunuy 3 Yq hwn 7 13,000 91,000
90 | dwupwann nnuiwpnyuug dupgnidwyhu Inuyuqu 1 2,000,000 2,000,000
91 | hwunpnip qunuy hunn 5 21,000 105,000
92 | dwqgdwu yupwu hwwn 2 42,000 84,000
93 | pwuytinpnih qunuly hwwn 15 26,800 402,000
94 | utinuuh phuhuh nuytn huwn 12 45,000 540,000
95 | utinuuh phuhuh qunuy hwwn 150 400 60,000

punudliup 3,506,000

21. «ynuipm wpjtimhfuyh ojhdyhwju dwujuyumwutju dwupqunupngy DALY
Uhunynph

NN swithh qmyph gmuiwpp
/Yy anuph wtutimin dpwynpp | pwiuwyp (rcfgsﬁ) (nnud)
96 | uhqulj mnuutph 600 gpwud hwwn 1 196,000 196,000
97 | uhqul mnuutiph 700 qpud hwwn 196,000 196,000
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98 | uhqulj mnuutph 800 qpud hwn 1 196,000 196,000
99 | uhquy wnohlutiph 600 gpud huwn 1 188,000 188,000
100 | Uhquy wnshlutiph 700 gpud huwn 1 188,000 188,000
101 | uhquy wnohlutinh 800 gpud hwwn 1 188,000 188,000
102 | wpitmhjulwu unpé 4-7 Yq huwn 2 131,000 262,000
103 | wpitnhjuiwu junuwwnp hwwn 6 174,000 1,044,000
104 | 1gwd qunuly 1Yyg hwwn 2 9,000 18,000
105 | 1gywd qunwy 3 Yq hwwn 2 13,000 26,000
106 | 1gywd qunuy 6 Yq hwmn 2 29,000 58,000

punudliup 2,560,000

22. «dwuwanph pnugpudwpnh dwujmyuwmwntijuu dupqunupngy AOUY
hwynph

NN swthp qnyph gnuiwpp
/Yy anuph wtutimin dpwynpp | pwiuwyp (r?gi%) (nnud)
107 | pnugpwdwpunh wuwwnh pupa huwn 5 75,000 375,000
108 | pnugpwdwpunh mwudhy Jujunyh hwwn 4 56,000 224,000
109 | pnugpwdwpunh dwupqupup hwuwn 5 16,000 80,000
110 | 1gywod qunuy 3 Yq huwn 6 13,000 78,000

punudliup 757,000

23. ££ Upwuqudnnuh vupq «Uyupuw hwduwyuph dwujuywunwiiju dupqunupngy £OUY
hwynph

NN swthp qnyph qnuiwipp
/Yy anuph wtutimin dpwynpp | pwiuwyp (Eﬁlﬁ) (nnud)
111 | ppugpwdwpunh ywwwmh pwpa huwn 5 75,000 375,000
112 | pnugpwdwpunh mwuahy Jujunyh hwwn 3 56,000 168,000
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113 | ppugpwdwpuh dupqupwe hwuwn 5 16,000 80,000
114 | pdppwdwpwnh gnpg dwolyngny Jnuiuqu 1 2,290,000 2,290,000
punudliup 2,913,000
24. ££ Upwuqwonmnuh dwpq «Umupulh dwpqunuypng» DOAUY
dhunfnph
NN swthh qnyph qnuiwpp
nyph wujwunyd u
Dy anuph wtutimin thunnpp | putp | I (npun)
(npu)
115 | pdppwdwpunh gnpg dwodlngny huwn 1 2,290,000 2,290,000
116 | pdppwdwipnh fjupmyhjuy hwwn 4 78,000 312,000
117 | $mupnih qunuy huwn 5 18,000 90,000
118 | Yyniypnih qunuy huwn 5 33,000 165,000
119 | 1gwd qunuy 3 Ygq hwwn 4 13,000 52,000
120 | utinuuh phuhuh guug hwuwn 6 20,000 120,000
121 | utinuuh phuhuh nwltin hwn 6 45,000 270,000
punuudbtup 3,299,000
25. ££ Upwpwwh dwmpq «Upmuwuwm punuph (fuquhy Gnjtigymuh widwu pdpjwdwpnh ojhuy hwljw htippwithnjuh dwpqunupng»
aNuy
dhunfnph
NN swithh qmjph gmuiwpp
gnyph wujwundp ghup
/ dhuiyn wuw wd
/Yy hudnpp |- puiwlp (nnud)
122 | pdppudwpunh gnpg 6wdlyngny Jnuiuqu 2 2,290,000 4,580,000
punudliup 4,580,000

26. ££ Upwpwwmh dwupq «Lwbuywmqunh (bnplipnn Luijnpywiujwnh
wujwiu dmpqunupng» LNUY
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uhunfnph

NN swiih qnyph gnuiupp
nyph wujwund u
Dy anuph wtutimin o | putnp | SV )
123 | dwugiguwun wupwu huwn 2 42,000 84,000
124 | dmunpnih qunuy hwwn 4 18,000 72,000
punudliup 156,000
27. L& Upmpwwnh dwpq «Updkt bYuqupymuh widwh dwujwyunuujuu dtwpqunuypng» 400G
uhuynph
NN swithh qmyph gmuwpp
nyph wujwund u
/Yy anuph wtutimin dpwynpp | pwiuwyp (gﬁw%) (nnud)
125 | ghp 8 Yq qnyq 5 22,000 110,000
126 | 1gywd qunuyutip 34q hwuwn 3 13,000 39,000
127 | hidwugh wujunnntip 26x2.1 hwwn 12 12,000 144,000
128 | $ninpnih nupwwuh gug qnyq 2 68,000 136,000
129 | $munpnih qunuy hwwn 6 18,000 108,000
punudliup 537,000
28. ££ Upwpwwnh dwpq «Upwpuwn punuph dupqunupngy £00Y
Uhuynph
NN swithh qmjph gmuiwpp
nyph wujwund u
/Yy anuph wtutimin dpwynpp | pwiuwyp (gﬁw%) (nnud)
130 | pnugpwdwpuh nhug Jnuyuqu 1 2,720,000 2,720,000
131 | ppugpwdwpunh wuwwh pwpa hwuwn 3 75,000 225,000
132 | puultimpnih qunuy hwwn 6 26,800 160,800
133 | dwugjguwn wupwu huwn 3 42,000 126,000
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134 | $mwnpnih qunuy hwwn 10 18,000 180,000
135 | 1gywd qunuy 3 Yq huwn 5 13,000 65,000

punudliup 3,476,800

29. £ Upwpwwnh dwpq «Uwpmhu dwppuuyuuh wmujuu 9dlinpm duujuwyumukjuu dtwpqunuypng» £0UG
Uhuynph

NN swithh qmyph gmuiwpp
/Yy anuph whtutimn dpwynpp | pwiuwyp (r(i‘gi%) (nnud)
136 | fwqutiqghnmu lag 50 13,000 650,000
137 | dwpduwdwpqujuu wyohly hwwn 1 142,000 142,000
138 | puppwdwipunp gnpg dwodlngny Jnuyuqu 1 2,290,000 2,290,000
139 | 1gywod qunwy 3 Yq hwwn 4 13,000 52,000
140 | dwgguwu yqupwu huwn 3 42,000 126,000
141 | pnugpwdwnpunh mwudhy Jujunyh hwuwn 3 56,000 168,000
142 | $munpnih qunuly huwn 10 18,000 180,000
143 | puulytinpnih qunuy huwn 10 26,800 268,000
144 | yntypnih qunuy hwwn 5 33,000 165,000

punudbtup 4,041,000

30. £&£ Upuwyhph dwpq «Updwyhph punupuwytinupuwh ywpqunuypngy £004
Uhunynph

NN swithh qmyph gmuiwpp
/Yy anuph wtutimin dpwynpp | pwiuwyp (I?gi%) (nnud)
145 | Uwpduwdwupquljuu onuljutin qnyq 1 47,000 47,000
146 | dSnmunpnih qunuy huwn 5 18,000 90,000
147 | Puuytinpnih qunuly hwwn 5 26,800 134,000
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punudliup

271,000

31. £&£ Updwyhph dwpq «dwnupuuyunh hwdwjupuy imwpwuh dwhjuyunwutjut dwupqunupngy £00Y

Uhunynph
NN swiih qnyph gnuiupp
nyph wujwunmu u
Dy anuph wtfutimin dhunjopp | putnp | I (npun)
(npua)

148 | Yynilypnih qunuly huwn 7 33,000 231,000
149 | pwuytinpnih qunwuly hwwn 7 26,800 187,600
150 | $mupnih qunuy hwwn 7 18,000 126,000
151 | Ynjtgpnih Juuguwy Inuyuqu 1 298,000 298,000
152 | dwgjguwn wupwu huwn 2 42,000 84,000
153 | dwupduwdwpquljuu onuljulip qnyq 1 47,000 47,000
154 | pdppudwupnh fupunyhjuy hwwn 2 78,000 156,000
155 | pliuhuh utinuu Inuyuqu 2 350,000 700,000
156 | utinuuh ptuhuh qunuly huwn 200 400 80,000
157 | utimwuh ptuhuh guug hwwn 5 20,000 100,000
158 | utinuuh ptuhuh nwtwn huwn 10 45,000 450,000
159 | ghp 8 Yq qniq 2 22,000 44,000

punudliup 2,503,600

32. ££ Updwyhph dwpq «Ukdwdnph ywpqunupngy L0004
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dpwynph

NN suithh qnyph qnuiwpp
Dy anuph wtutimin o | putnp | SV )
160 | Anugpudwupunh ywwh pwpa huwn 2 75,000 150,000
161 | Cwupwann dupgnidwht mpudwpnyjuug Inuiuqd 1 444,000 444,000

punudliup 594,000

33. £& Shnuppmuhph dwpq «dwpnbvhuh fwdphy Guwymvh widwh punwpuyhu dwpqunupng» 0UG
dpwynph

NN sunthh qnyph qnuiwpp
Dy anuph utiuinide o | putip | S )
162 | dwupduwdwpqujuu wyohy huwn 2 142,000 284,000
163 | pupowdwnup fjupnyhjuly huwn 2 78,000 156,000
164 | dwgiguwu ywpwu huwn 2 42,000 84,000
165 | Ypnwpwp 154q huwn 4 2,900 11,600
166 | Ynjtypnih qunuy hwwn 7 33,000 231,000
167 | $munpnih qunuly huwn 2 18,000 36,000
168 | pwuytitnpnih qunwly hwwn 7 26,800 187,600
169 | pnugpwdwnpuh wnmwuahy Yujunyh huwn 2 56,000 112,000
170 | pkuhuh utinuu Inuyuqu 1 350,000 350,000
171 | pnugpwdwpuh dwpqupwe huwn 2 16,000 32,000

punudliup 1,484,200

34. £ Stinuppmuhph dvwpq «Gbnuppmuhph dwpquyht vwpqunupng» AAUY
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uhunfnph

NN swiih qnyph gnuiupp
nyph wujwund u
oy Anuph witinn dhwopp | putwtp | A (npuu)
(npw)

172 | Ynilgpnih Juuquwy Inuyuqu 1 298,000 298,000
173 | ynlypnih guug hwwn 2 16,000 32,000
174 | ynitgpnih qunuy hwn 10 33,000 330,000
175 | $mwmpnjh qunuy hwwn 5 18,000 90,000
176 | pnugpwdwpunh wwwh pwpa huwn 2 75,000 150,000

punudliup 900,000

35. ££ Stnuppniuhph dwpq «Umpunnium hwmdwjupuy tiimwpwuh Udpwnm Uhtpjuwinh wiyjwt dwpqunuypngy £0UY
Uhuynph
NN swiih qnyph gnuiupp
nyph wujwund u
oy Anuph wiinn dhwopp | pubwtp | G (npuu)
(npw)

177 | pnugpudwpuh dwpqupwpe huwn 6 16,000 96,000
178 | pnugpwdwpunh wwwnh pupa huwn 6 75,000 450,000
179 | pdppudiupnh fupmyhjul hwwn 2 78,000 156,000
180 | pnugpwdwpuh wmwuahy Yujunyh hwwn 2 56,000 112,000
181 | $nmunpnih nupwuuh guug qnyq 2 68,000 136,000

punudliup 950,000

36. ££ Glinuppmupph dwpq «Ubwh hudwyuph ‘b, bwqupuuh wujuu dtwhjuyunwmutjut dfupqunupngr £O00Y
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uhunfnph

NN swthh qnyph qnuiwpp
nyph wujwund u

Dy anuph wtutimin o | putnp | SV )
182 | dninpnih qunuy huwn 10 18,000 180,000
183 | utinwuh phuhuh guug hwn 4 20,000 80,000
184 | utinuuh ptuhuh nwitwn huwn 6 45,000 270,000
185 | utinwuh phuhuh qunuy hwwn 300 400 120,000
186 | owfutiunh funupwn hwwn 20 8,000 160,000
187 | pwjudwwnh utinuiu Jnuyuqu 4 78,000 312,000
188 | Ypnwpwp 15 Yq hwwn 4 2,900 11,600
189 | Yynitypnih guug huwn 2 16,000 32,000
190 | Ynitypnih qunuy hwwn 5 33,000 165,000
191 | pwultitnpnih qunuly huwn 5 26,800 134,000
192 | pnugpwdwpunh wwwmh pwpa hwuwn 2 75,000 150,000
193 | pnugpwdwpnh wmwuahy Jujunyh huwn 2 56,000 112,000

punudbtup 1,726,600

37. L& Stnuppmuhph dwpq «Xwdpwpuljh dwmajuyunmutjut dfupqunupngy £O0U0Y
Uhuynph
NN swthh qnyph qnuiwpp
nyph wujwund u

Dy anuph wtutimin o | putp | SV )
194 | Yyniypnih qunuly huwn 10 33,000 330,000
195 | Ynypnih guug hwuwn 16,000 32,000
196 | Pnmunpnih qunuy hwwn 18,000 90,000
197 | $munpnh nupyuwuh gug qnyq 2 68,000 136,000
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punudliup 588,000
38. ££ Glinuppmupph dwpq «dwppbkuhup phy 1 dwpqunupngr £O00Y
Uhunynph
NN swithh qmjph gmuwpp
gnyph wujwundp ghunp

/Y upunfnpp | puiulp (nput) (npud)
198 | dnunpnih qunuy hwn 15 18,000 270,000
199 | $ninpnih nupywuh guug qnyq 2 68,000 136,000

punuudbtup 406,000

39. ££ Glinuppmupph dwpq «3phom dwhwuh UWhpnjuuh wujwi dwpqunupngry £00Y
Uhuynph
NN swiih qnyph gnuiupp
nyph wujwund u
oy Anuph witinn dhwopp | pubwtp | S (npuu)
(npu)

200 | pwuytinpnih qunuy huwn 15 26,800 402,000
201 | $nmunpnih qunuy hwwn 15 18,000 270,000
202 | pnugpwdwpuh dwupqupwpe huwn 4 16,000 64,000
203 | dmqgdwun yupwu hwwn 2 42,000 84,000
204 | pdppwdwpunh fupnyhjuy huwn 2 78,000 156,000
205 | ppnugpwdwpuh wuwwnh pupa huwn 3 75,000 225,000

punudliup 1,201,000

40. ££ Uyimupph dwpqh «®nphup mwpwmdépuwyhn dmujuyunwmutijut dwupqunupngy A0TY
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Uhunfnph

NN swiih qnyph gnuiupp
nyph wujwund u
oy anuph wiutinie dhuopp | puttp | S (npun)
(npuad)

206 | pdppwdwnpnh gnpg dwdlngny Inuyuqu 1 2,290,000 2,290,000
207 | ynypnth qunuly huwn 5 33,000 165,000
208 | pwuytinpnih qunuly hwwn 5 26,800 134,000
209 | $nmunpnih qunuy hwwn 5 18,000 90,000
210 | owjudwnh ubimuwiu Inuyuqu 3 78,000 234,000

punudliup 2,913,000

41. ££ Uyimuhph dvwpqh «buyuuh bwghp Ludpupindjuuh wijwi dwbijmyunwitjmn dwupgqunupngy 00
Uhunynph
NN swiih qnyph gnuiupp
gnyph wujwundp ghup

/Yy dpwnpp |- puwln o (nnud)
211 | utmwuh phuhuh guug hwwn 2 20,000 40,000
212 | pippwdwpnh fupmyhpuly huwn 2 78,000 156,000
213 | Ynitgpnih guug hwwn 1 16,000 16,000
214 | wjutiwwnh dudwgnyg huwn 5 27,000 135,000

punudbtup 347,000

42. ££ Uymuhph dwupgh «Gwwyuuh wpiimhuyh dwuuughnwmgywd dwujuyunwmutijut ywupqunupngy £00Y
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uhunfnph

NN swiih qnyph gnuiupp

nyph wujwund u
Dy anuph wtutimin o | putnp | SV )
215 | wpitmhjujuu junuuwwp huwn 8 174,000 1,392,000

punudbtup 1,392,000
43. ££ Umuhph dwupgh «Uhuhwuh hwdwjuph jwjudwwmp nupngy £00H
Uhunynph

NN swiih qnyph gnuiwpp

nyph wujwunmu u
/Yy anuph wtutimin dpwynpp | pwiuwyp (ﬁllfm%) (nnud)
216 | oufutiunh dwudwgnyg hwwn 5 27,000 135,000
217 | pwjudwmnp utmuiu Inuyuqu 5 78,000 390,000
218 | pwjutiwnh gniguunwjumuy Inuyuqu 2 65,000 130,000

punudliup 655,000
44. ££ Uymuhph dwmupgh «Uhuhwmuh dwujuyumuutju dtwpqunupng» LOUY
Uhuynph

NN swithh qmyph gmuwpp

nyph wujwund u
/Yy anuph wtutimin dpwynpp | pwiuwyp (r(i‘gm%) (nnud)
219 | $nmunpnih qunuy hwwn 7 18,000 126,000
220 | hwunpnih qunuy huwn 3 21,000 63,000
221 | hwunpnih nupwwuh guug qnyq 2 32,000 64,000
222 | ynilypnih gunuly hwwn 7 33,000 231,000
223 | puultinpnih gunuy huwn 7 26,800 187,600
224 | puppudwpnh fupunyghjuy hwwn 2 78,000 156,000
225 | 19ywd qunuy 34q huwn 2 13,000 26,000
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226 | 1gywd qunuy 6 Yq hwwn 2 29,000 58,000

227 | pwjudwnh fjuwnuwpwn huwn 7 8,000 56,000

228 | pwjudwwnh dwdwgnyg hwwn 5 27,000 135,000

229 | owjudwnh gmguunwjunwly Inuyuqu 1 65,000 65,000
punudliup 1,167,600

45. ££ Uymuhph dwupqh «Uhuhwuh $nmwnpnih nupngy £0U0Y
NN w ni dpwtinph nidw
/Yy anuph wtutimin dﬁwﬂ;n pﬁmﬁﬂn (qbu% q(rHlquil)E
i)

230 | dnunpnih nupuuwuh guug qnyq 2 68,000 136,000

231 | dnunpnih qunuy hwwn 20 18,000 360,000
punudliup 496,000

46. ££ Chpwh dupgh Synudph hwdwyuph «Jjpuwt Lujnpjmuh wujwh phuhup b utinuh ptuhuh dwujuwyunwutjuu

dwpqunupng» LO0UY

Whunph

NN nuoh widwtbnu swithh qmjph N gmuiwpp
/Yy anuph wtutimin dpwynpp | pwiuwyp (I(i‘gw%) (nnud)

232 | utinuuh ptuhuh qunuy hwwn 200 400 80,000
233 | utimwuh phuhuh nwjtin huwn 10 45,000 450,000
234 | ptiuhuh guug hwuwn 2 135,000 270,000
235 | ptiuhuh qunuy hwwn 22 2150 47,300
236 | punuhupnuh guug hwwn 2 39,000 78,000
237 | punudhupnuh nwuljin huwn 10 33,900 339,000
238 | punuhupnuh htinpugunuly hwwn 100 1,700 170,000
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punudliup

1,434,300

47. ££ Chpwmyh vwpgh Snuipm hwmdwjupuyimmwpuuh «Shgpuu Atwmpnuywuh wiyjw jujudwnmp dwijmyunwmntljuu

dwpqunupng» LO0UY

Uhunynph
NN swithh qmyph gmuwpp
nyph wujwund u
/Y anuph il ¢ dpwynpp | pwiwyp aun (npwd)
(npw)
239 | pwjudwnh gnigunwjumuy huwn 2 65,000 130,000
240 | owjutiwnp fuwunwpup hwuwn 100 8,000 800,000
241 | owfudimnh ubiwn Inuyuqu 5 78,000 390,000
punudliup 1,320,000
48. ££ Chpwyh dupgh Synudph hwdwyuph «Uwdpn-dninnyh dwujuyumwuitijuu dtwpqunupng» 400G
Uhunynph
NN swithh qmyph gmuwpp
nyph wujwund u
My anuph il ¢ dpwynpp | pwiwyp aun (npwd)
(npu)
242 | pdppwdwpnh gnpg dwodlngny Jnuyuqu 1 2,290,000 2,290,000
punudbtup 2,290,000
49. ££ Chpwlh dupgh Synudph hwdwyuph «Uwpduwmiwupqujuu dtwpqudabbiph dwujuyunuutjut dfwupqunupngy £O00Y
dhunfnph
NN swithh qnyph gnuiwpp
nyph wujwund u
oy anuph wiutinie dhuopp | puttp | S (npun)
(npw)
243 | dmqutighnmu Uq 50 13,000 650,000
punudliup 650,000

50. ££ Chpwlh dwpqh Sniph hwdwjuph «<pumagnipjun twujuyumwutjumh dmpqunupng» £0UY
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dpwynph

NN suithh qnyph qnuiwpp
nyph wujwunid u
Dy anuph wtutimin thunnpp | putp | I (npun)
(npud)
244 | dwiupuqunuly 4.5 hunn 30,050 12 360,600
punudliup 360,600

51. ££ Chpwlh dwpgh Snuiph hwmdwyuph «Uppnip Yjipuwiywuh whjwu hnthwhnndtimu pdpjudwpnp dwujuyunuubjmu

dwpqunupng» LO0UY

dhunfnph
NN swiih qnyph gnuiupp
nyph wujwund u
/Yy anuph wtutimin dpwynpp | pwiuwyp ar % (nnud)
(npu)
245 | pdppwdwpwnh gnpg dwolyngny Inuyuqu 1 2,290,000 2,290,000
246 | nuppwdwpunh fupunyhjuy hwwn 2 78,000 156,000
247 | duqgduu yupwu hwwn 15 42,000 630,000
248 | oytinuljuu yuwn hwn 2 84,000 168,000
249 | pwultiinpnih qunuly huwn 4 26,800 107,200
250 | dmunpnih qunuy huwn 5 18,000 90,000
punudliup 3,441,200
52. ££ Ghpwlh dmupgh Gynudph hwmdwjuph «Cwmdwhp dwnjumyumnwubjuu dwupqunuypngy LO00Y
dhunfnph
NN swithh qnyph gnuiwpp
nyph wujwund u
Dy anuph utiuinide dhujnpp | putmlp | AR (npu)
(npuwd)
251 | pnugpwdwpwnh nwuahl Yujunyh hwwn 4 56,000 224,000
252 | dupdumdwpqujuu vumwpuu hwwn 2 62,000 124,000
punudbtup 348,000

53. ££ Chpwlh dwupgqh «Udwuhugh dwhjuyumnwmntjut dfupqunupngy £O00Y
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uhunfnph

NN swiih qnyph gnuiupp
nyph wujwund u
Dy anuph wtutimin o | putnp | SV )
253 | nwhni] nuuwywu nth huwn 5 266,400 1,332,000
254 | Imunpnih qunuy huwn 5 18,000 90,000
255 | swfudwnh fuwnupwn hwuwn 15 8,000 120,000
punudbtup 1,542,000
54. ££ Chpwlh vwpqh «Upphlh $nmpnih dmpqunupng» £O0UY
Uhunynph
NN swiih qnyph gnuiupp
nyph wujwunmu u
Dy anuph wtfutimin dpuopn | putatp | (R ()
256 | dninpnih nupwywuh gug qnyq 2 68,000 136,000
257 | dhuh $nmunpnjh nupwwuh gug qnyq 1 32,000 32,000
258 | dmunpnih qunuy huwn 30 18,000 540,000
punudliup 708,000
35. &£ Chpwlyh dwpgh «Upphyh dwupquhwdwihpy K0T
Uhunynph
NN swithh qmyph gmuiwpp
nyph wujwund u
/Yy anuph wtutimin dpwynpp | pwiuwyp (rcfgm%) (nnud)
259 | Yonwpwn 15 Yq huwn 3 2,900 8,700
260 | 1gywd qunuy 3Yygq hwn 3 13,000 39,000
punudliup 47,700

56. ££ Ghpwlh ywpgh «Upphlh dmpqunupngr» LO0UY
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uhunfnph

NN swthh qnyph qnuiwpp
nyph wujwund u

Dy anuph wtutimin o | putnp | SV )
261 | yniypnih uuguwly Inuyuqu 1 298,000 298,000
262 | Ynitypnih qunuy hwwn 15 33,000 495,000
263 | pwuytinpnih gunuly huwn 10 26,800 268,000
264 | dupduudupquijuu wydhy hwwn 1 142,000 142,000
265 | 1gywod qunuy 34q hwwn 4 13,000 52,000
266 | Uhuh $nunpnh nupuyuuh guug qnyq 4 32,000 128,000

punudliup 1,383,000

57. ££ Chpwlh dwpgqh Gynuiph hmdwyuph «Upjttmhiuyh dwujwmyumwuukjuu dtwpqunupngy 40U
Uhunynph
NN swithh qmyph gmuwpp
nyph wujwund u

/Yy anuph wtfutimin dpwynpp | pwiuwyp (rcfgm%) (nnud)
267 | wpittmhluwh dajuwpluyhu junuwwp hwuwn 4 174,000 696,000
268 | mpjtnmhjuluu thqul mnwutph 800 q hwn 2 196,000 392,000
269 | wpjtnhjuluu thquy wnwutph 600q hwn 2 196,000 392,000
270 | wpltmhjulwu uhqul mnuutph 700q hwn 2 196,000 392,000
271 | wpjtmhlulwu uhquy wnohlutiph 800 q hwwn 2 188,000 376,000

punuudbtup 2,248,000

58. ££ Chpwlh dwpgh Snnipm hwdwjipuyimwpwuh «Anugpmiwpmh dwujuyunuwitijmt dfwpqunupngr £0UY
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uhunfnph

NN swiih qnyph gnuiupp
nyph wujwund u
Dy anuph wtutimin thunnpp | putp | I (npun)
(npu)

272 | pnugpudwpunh nhug Inuyuqu 1 2,720,000 2,720,000
273 | 19Jwd qunuy 34q hwn 5 13,000 65,000

punuudbtup 2,785,000

59. ££ Chpwyh vwpqh «Ujunipuuh hwmiwhp vwpqunupng» £O0UG
Uhunynph
NN swithh qmyph gmuwpp
nyph wujwund u
/Yy anuph wtfutimin dpwynpp | pwiuwyp ar % (nnud)
(npuwd)

274 | pdppwdwnpunh gnpg dwolyngny Inuyuqu 1 2,290,000 2,290,000
275 | pnugpudwpnh mwudhy jufunyh hwwn 3 56,000 168,000
276 | dmqguuu yupwu hwwn 2 42,000 84,000
277 | pdppwdwpwunh fupuyhjuy huwn 2 78,000 156,000
278 | $mwpnih qunuy hwwn 10 18,000 180,000
279 | dhuh $ninpnih pupwuuh guug qnyq 2 32,000 64,000
280 | pnugpwdwpunh dwupqupwp hwuwn 4 16,000 64,000
281 | ghp 8Yyg qniq 5 22,000 110,000

punudbtup 3,116,000

60. ££ Chpwlh dwpqh «Hnudpm dwpquju pupapugnyu upytinnpjuu npupng» DALY
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uhunfnph

NN suithh qnyph qnuiwpp
Dy anuph wtutimin o | putnp | SV )
282 | puppwdwpunh fupnyhjuy hwwn 2 78,000 156,000
283 | pytinujuu ywmn hwn 2 84,000 168,000
284 | $nmunpnih qunuy huwn 2 18,000 36,000
285 | gnug hwwn 1 81,600 81,600
286 | dwqubighmu la 50 13,000 650,000
287 | qhp 8 Yq qnyq 5 22,000 110,000
288 | dwugjgdwu wupwu hwwn 2 42,000 84,000
289 | dwpduwdwpquluu onuyutip qnuq 1 47,000 47,000
290 | gtmupytunmwjuwu dwpduwdwpgnipjwu pnyjuyw huwn 6 52,000 312,000
291 | yupdwuwpp Inuyuqu 1 600,000 600,000
292 | gtimpupytunujuu dupduudwupgnipjuu duywytu thwymhyny huwn 1 52,000 572,000

punudbtup 2,816,600

61. ynuiph hwdwyuph «Upwd Umpguymuh wujwh juwnbiph dwujuyumuubjuu twpqunuypng» 00
Uhuynph

NN swithh qmyph gmuwpp
/Yy anuph wtutimin dpwynpp | pwiuwyp (Eﬁi%) (nnud)
293 | Ynypnih Juuquwlyutin Ipuyuqu 1 298,000 298,000
294 | dhuh $ninpnih pupyuwuh guug qnyq 2 32,000 64,000
295 | puuytnpnih gunuy hwwn 20 26,800 536,000
296 | Ynitypnih qunuy huwn 20 33,000 660,000
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297 | ynitypnih guug hwwn 2 16,000 32,000
punudliup 1,590,000
62. 4ynuiph hundwjuph «Cwjudwmh dwujuyunwubjut dwupqunupngy L0004
dhunfnph
NN swithh qmyph gmuwpp
nyph wujwund u
/Yy anuph wtutimin dpwynpp | pwiuwyp (;‘Itllw%) (nnud)
298 | owfutiunh funwpwn hwwn 90 8,000 720,000
299 | wjudwwnh dudwgnyg huwn 20 27,000 540,000
punudliup 1,260,000
63. Gynuiph hwdwjuph «Dwph b uynpumuwyht Wuptiph dwubimghmwugyud dwujuwyumwutkjuu dtwpqunupng» 400G
dhunfnph
NN swithh qnyph gnuiupp
nyph wujwund u
Dy anuph wtutimin o | putip | SV ()
300 | oybinuuu yuwn huwn 1 84,000 84,000
301 | dupduwdwpqujuu ubippuwly hwn 10 21,000 210,000
punudliup 294,000
64. S nuiph hwdwjuph «Uquwm néh pupwdwpmh dwpqunupngy LAWY
dhunfnph
NN swithh qmjph gmuwpp
nyph wujwund u
Dy anuph wtutimin dpuopn | putatp | R ()
302 | 1gywd qunwy 34q hwn 2 13,000 26,000
303 | puppwdwpunh fupnyhjuy huwn 3 78,000 234,000
304 | dwugjgdwu wupwu hwwn 2 42,000 84,000
punudliup 344,000
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65. «Uwipuhyh dwujuyumnuukljm fwpqunuypng» LNUG

Uhuynph

NN swiih qnyph gnuiupp
Dy anuph wtfutimin dpuopn | putatp | (AR ()
305 | owjudwwnh gmguunwjumnwly Inuyuqu 1 65,000 65,000
306 | Ynjtypnih qunuy hwwn 10 33,000 330,000
307 | $muwnpnih qunuly huwn 10 18,000 180,000
308 | Ynjtypnih guiug hwwn 2 16,000 32,000
309 | $nmupnih nupywuh guug qnyq 4 68,000 272,000
310 | dhup $nunpnih nupyuuh guug qnyq 4 32,000 128,000

punuiliup 1,007,000

66. ££ Unmwyph dvwupgh Lpugnuuh «Upnwl (fudpwybpjuuh wujwuwu dupqunuypngy LOUG
Uhunynph

NN swithh qmyph gmuwpp
/Yy anuph wtfutimin dpwynpp | pwiuwyp (ﬁllfiﬁ) (nnud)
311 | gninnjh mwwmudh Inuyuqu 1 6,000,000 6,000,000
312 | $nunpnih pupywuh guug huwn 2 68,000 136,000
313 | Ynypnih guug huwn 1 16,000 16,000
314 | $nmunpnih qunuy hwwn 6 18,000 108,000
315 | Yniypnih qunuly huwn 6 33,000 198,000
316 | pwuytinpnih qunuly hwwn 6 26,800 160,800
317 | pnugpwdwpwh nwuahl Yujunyh huwn 6 56,000 336,000
318 | pnugpwdwpunh dupqupwe huwn 5 16,000 80,000
319 | pwhmy nuuwlwu n6h hwwn 6 266,400 1,598,400
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320 | nuhnijujwqgph thwywntip puuwjwu ndh hwwn 8 55,800 446,400
321 | nuhmyh wdpwy nwuwlwu néh hwwn 8 36,900 295,200
322 | dupdumdwpquljuu aumwupuu hwn 2 62,000 124,000
punudbup 9,498,800
67. ££ Unnwyph dwipgh «’'bnp Qwauh hwdiwyupwyimwpwuh dwpqunupng» LO0UY
Uhuynph
NN swithh qmyph gmuwpp
gnyph wujwundp ghup
/Yy dpwynpp |- puwln o (nnud)
323 | ptiuhuh utiqwu Inuyuqu 3 350,000 1,050,000
324 | yntypnih Juuquwy Inuyuqu 1 298,000 298,000
punudbtup 1,348,000
68. ££ Unmwyph dwpgh Lpumgnuih «GwghYy Cwnniljwuh whjwu Upnyjuuh uynpunh b dymynyph hwdwhp jrunpnuy £O0UY
uhuynph
NN swiih qnyph gnuiupp
nyph wujwund u
oy anuph wiutinie dhuopp | puttp | S (npun)
(npw)
325 | Yniypnih guug hwuwn 1 16,000 16,000
326 | puppwdwpunh fupnyhjuy huwn 2 78,000 156,000
punudbtup 172,000
69. ££ Unwnwyph dupgh Quptuguywuh «Upw Uwunmjjuuh wujwu dwujuywnmwuubjuwt dupqunupng» £00Y
Uhunynph
NN swithh qmjph gmuiwpp
nyph wujwunmu u
/Y anuph il ¢ dpwynpp | pwiuwyp aun (npwd)
(npw)
327 | pmuljtimpnih qunuy hwwn 10 26,800 268,000
328 | Yniypnih qunuy huwn 10 33,000 330,000
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329 | ynmtypnih guug hwwn 1 16,000 16,000
330 | ghp 8 Yq qnyq 16 22,000 352,000
331 | pwjudwwnh dwiwgniyg hwwn 10 27,000 270,000
332 | pwjudwmnh fjuwnupwn hwwn 10 8,000 80,000
333 | ppugpudwpuh dwpqupwpe hwuwn 5 16,000 80,000
punudliup 1,396,000
70. ££ YUnnuyph dwpgh «Gnjupnh dwujuyuwnwubjmb dupqunupngy QN0
NN w ni dpwiinph nidw
/Yy anuph wtutimin dﬁwllﬂllqun p?uhju%llin (Eﬁlﬁ) q(qpmg)n
334 | owupwann dwpgnuduwght mnudwpnjug Jpuyuqu 1 444,000 444,000
335 | pippwdwpnh fjupmnyhjuly huwn 2 78,000 156,000
336 | pnugpwdwpunh mwuahy Jujunyh hwwn 5 56,000 280,000
337 | dwupduwdwpqujut vumwpuu huwn 3 62,000 186,000
338 | owjutiwwnh utmwu Inuyuqu 5 78,000 390,000
339 | owjudwwnh dwdwgnyg huwn 5 27,000 135,000
punudliup 1,591,000
71. ££ Lnnm dwpgh «dwhwdanph jwjudwmh dvwubhughmugywd dwujuyuwmwnhjuu dwpgqunupng» 0UY
NN w nt dpwinph nidw
/Yy anuph wtutimin dﬁwllﬂllqun p?uhju%llin (Eﬁlﬁ) q(qpmg)n
340 | pwjudwwnh dudwgnyg huwn 10 27,000 270,000
341 | owmfudmnh fumnwpwn hwwn 10 8,000 80,000
punudliup 350,000
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72. £ Lnnm dwipqh «dwumdnph jnnh dwubhwughmmgywd dwnjuuyunwmntju dfupqunuypngy LOUY

Uhuynph
NN swthh qnyph qnuiwpp
nyph wujwund u
Dy anuph wtfutimin dpuopn | putatp | (AR ()
342 | uynpuuyhtu juunbp qnuyq 15 18,000 270,000
punudliup 270,000
73. £& Lnnm dwpgh «dwuwanph dbbwmwuypupuwyhu vwpquabtph dwhjuyuwnwmutjut dupqunuypngr £O0UY
Uhunynph
NN swithh qmyph gmuwpp
nyph wujwund u
/Yy anuph wtfutimin dpwynpp | pwiuwyp (Icfguﬁ) (nnud)
343 | ppugpwdwpuh dupqupwe hwuwn 2 16,000 32,000
344 | pdppwdwpunh fupnyhjuy hwwn 1 78,000 78,000
345 | pnugpwdwpnh wwwnh pupa hwuwn 1 75,000 75,000
punudliup 185,000
74. ££ Lnnm dwpqh «dwuwdnph «Swpnuy hwdwhp ywpqunupng»y 400
Uhunynph
NN swithh qmjph gmuwpp
nyph wujwund u
Dy anuph wtfutimin dpuopn | putatp | T ()
346 | pwjudwnh gnigunwjumnuy huwn 1 65,000 65,000
347 | pnugpudwpunh mwudahy Jujunyh hwwn 1 56,000 56,000
348 | punuhupnuh dtintwphwy hwwn 10 33,900 339,000
349 | pwnuhupnuh thtnmpugqunuly hwwn 5 1,700 8,500
punudbtup 468,500
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75. £& Lnnm dwpgh Jwiwdnph «dinuyh vwpquabtiph dwujuywunuwitjut dtwuuughnugywd dupqunupng» N0UY

Uhuynph
NN swthh qnyph qnuiwpp
Dy anuph wtfutimin dpuopn | putatp | (AR ()
350 | nwhnijujwqgph nuhni} nuwuwlwu néh hwuwn 5 266,400 1,332,000
351 | nuwhnijujwgph wdpwly nuuwluu néh huwn 5 36,900 184,500
352 | nuwhnijujwgph pwhnijuthwyn puuwywu ndh hwwn 5 55,800 279,000
punudliup 1,795,500

76. ££ Lnnm dwpgh «dwbuwénp hwdwyuph $ninpnih dwmuvughnmgywd dwmujuyunwmutijut dwpqunupngy £00H

Uhunynph
NN swiih qnyph gnuiwpp
/Yy anuph wtutimin dpwynpp | pwiuwyp (r?gi%) (nnud)
353 | $mwpnih qunuy hwwn 20 18,000 360,000
354 | $nmnpnih nupuyuuh gug qnuyq 1 68,000 68,000

punuudbtup 428,000
77. L& Lnnm dwpqh «Yptipn Uqupyuuh wujwu «Yhumpnuy hwdwihp dwpqunupngy 400

Uhunynph
NN swithh qmjph gmuiwpp
/Yy anuph wtutimin dpwynpp | pwiuwyp (r?gi%) (nnud)
355 | pmujtimpnih yuhwuwy Inuyuqu 1 950,000 950,000
356 | Ynjtypnih Juuguwy Inuyuqu 1 298,000 298,000
357 | dwupduwdwpquyjuu onuyutip qnyq 1 47,000 47,000
358 | yununwann hhupny Inuyuqu 1 1,366,000 1,366,000
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punudliup 2,661,000
78. ££ Lnnm ywpgh «Jjuybpnpm pdpjudwpmhp npupngy £O0UY
Uhunynph
NN swithh qmyph gmuwpp
nyph wujwund u
/Yy anuph wtutimin dpwynpp | pwiuwyp ar % (nnud)
(npw)
359 | puppwdwpunh gnpg dwodlngny huwn 1 2,290,000 2,290,000
360 | dwgqjgdwt yupwu huwn 1 42,000 42,000
punudbtup 2,332,000
79. L& Lnnm dwmpgh «dwuwanp ojhdwyhwljw htippwthnjuh dhhwwyuwypwpuyht dmpquabitiph dmpqunupng» £0UG
Uhunynph
NN swithh qmjph gmuwpp
nyph wujwunyd u
o anuph utiuinide dhujnpp | putwtp | AR (npu)
(npuad)
361 | pdppwdwpunh gnpg owodlngny Jnuyuqu 2 2,290,000 4,580,000
362 | pnugpwdwpwnh nhuq Jnuyuqu 1 2,720,000 2,720,000
363 | puppwdwpnh fupunyhjuy hwwn 4 78,000 312,000
punudliup 7,612,000
80. £& Lnnm dwpqh «Uwmbithwiwyjwup dwmujuyumnuutjut ywpqunupngy £O00Y
Uhuynph
NN swithh qmjph gmuiwpp
nyph wujwund u
/Yy anuph wtutimin dpwynpp | pwiuwyp ar % (nnud)
(npw)
364 | $nmunpnih nupywuh gug qnyq 2 68,000 136,000
365 | owfutiwwnh fuwnupwnbn hwwn 10 8,000 80,000
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366 | owfutiunh dudwgnyg huwn 5 27,000 135,000
367 | phiuhuh qunuy huwn 30 2,150 64,500
368 | phiuhuh guug qnyq 2 135,000 270,000
punudliup 685,500
81. ££ Lnnnm dwpgh «Swohph dwpqunupng» LOUY
uhuynph
NN swithh qmyph gmuwpp
nyph wujwunyd u
/Yy anuph wtutimin dpwynpp | pwiuwyp (I(i‘gw%) (nnud)
369 | $nmunpnih qunuy hwwn 15 18,000 270,000
370 | $nunpnih nupyuwuh guug qnyq 1 68,000 68,000
371 | pwultiinpnih qunuly huwn 10 26,800 268,000
punudbiup 606,000
82. ££ Lnnm dwpgh «Gmqupph Lkuphl) Uwpwywuh wajwu dwpqunupng» £0UY
Uhuynph
NN swiih qnyph gnuiupp
nyph wujwund u
Dy anuph wtutimin dpunlopn | puttp | (T (npa)
372 | dwupwann dwpgnidwyhu mqudwpnjuug Ipnuyuqu 1 2,000,000 2,000,000
373 | $munpnih qunuly huwn 10 18,000 180,000
374 | $nunpnih nupyuuh guug qnuyq 2 68,000 136,000
punudbup 2,316,000
83. ££ dwyng anph dmpgqh «duyph hudwjuph dwujmyumwubkjuu dupqunupngy 0UY
Uhuynph
NN swih qnyph gnuiwpp
nyph wujwund u
Dy anuph wtutimin dpunpn | putatp | (R ()
375 | $muwnpnih qunuly huwn 10 18,000 180,000
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376 | Yntypnih qunuy hwwn 10 33,000 330,000
377 | Untypnih guug hwwn 16,000 16,000
378 | Uhuh $ninpnih nupyuwuh guug qnyq 2 32,000 64,000
379 | 19ywd qunuy 3 Yyg huwn 4 13,000 52,000
380 | pnugpwdwnunh mwudhy Juunyh hwwn 1 56,000 56,000
381 | pwuytinpnih qunuly hwn 10 26,800 268,000

punudliup 966,000

84. ££ Jwyng anph dmupgh «Uwmhojuyh dvwpqunupng» 400G
Uhunynph

NN swithh qmyph gmuwpp
/Yy anuph wtfutimin dpwynpp | pwiuwyp (ﬁlﬁﬁ) (nnud)
382 | dmunpnih qunuy huwn 10 18,000 180,000
383 | $ninpnih nupuwuh gug qnuyq 2 68,000 136,000

punudliup 316,000

85. ££ Jwyng anph dwpqh «Gnliquuwanph dwmujuyumwuubjmu ywpqunuypng» 00
Uhunynph

NN swithh qmjph gmuwpp
Dy anuph wtutimin dpuopn | putatp | (T ()
384 | Uhuh $ninpnih pupyuuh guug qnyq 1 32,000 32,000
385 | nuppwdwipnh fupunyhjuly hwn 2 78,000 156,000
386 | ynitypnih qunuy huwn 10 33,000 330,000
387 | Ynitypnih guug hwwn 2 16,000 32,000
388 | dnmunpnih qunuy hwwn 10 18,000 180,000
389 | phuhuh utipuu Inuyuqu 2 350,000 700,000

punudliup 1,430,000
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86. ££ Suynioh dwpgh ‘unjtlndpippuu hwdwyuph «dwhwgu Uummpyuh widwh hwdwjupuyht dmpqunupngr £O00Y

NN w nt Upuainph nidw
n/y qnuph wijulinuip liﬁlullﬁl};]g p?uhju%llin (Qbu% qmpmg)n
npwi)

390 | ppnugpwdwpunh ywwnh pupahly huwn 2 75,000 150,000

391 | pnugpwdwpunh mwudhy Julunyh hwn 2 56,000 112,000

392 | pnugpwdwpunh wwply huwn 2 56,000 112,000
punudbtup 374,000

87. ££ Swmyniph vwpgqh «holimuh dwpqunupng» £NUG
NN w ni dpwinph nidw
Yy anuph wtutimin dﬁwllﬁll;ln pﬁmﬁﬂn ((J‘bh% q(rHlquil)E
npwi)

393 | pdppwdwpwnh gnpg dwolngny Jnuyuqu 1 2,290,000 2,290,000

394 | pnugpwdwnunh mwudhy Juunyh hwwn 3 56,000 168,000

395 | ppnugpwdwpwnh dwupqupwpe huwn 4 16,000 64,000

396 | pnugpwdwpunh wwwmh pwpahly hwuwn 3 75,000 225,000

397 | pdppwdwipnp fjupmnyhjuly hwwn 2 78,000 156,000

398 | ynitypnih guug huwn 2 16,000 32,000

399 | punuhupnuh thttmpugqunuy hwwn 40 1,700 68,000

400 | punuhupnuh dinvwphwy huwn 14 33,900 474,600

401 | dwgigiwu yupwu hwwn 2 42,000 84,000

402 | dwpduwdwpqujuu wydhly huwn 1 142,000 142,000

403 | dupduudupqujun tunwpuu hwwn 2 62,000 124,000
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404 | $nmunpnih nupwwuh guug qnyq 2 68,000 136,000
405 | Yniypnih qunuy huwn 5 33,000 165,000
406 | phuhup utmuu Inuyuqu 2 350,000 700,000
407 | pwultinpnih qunuy huwn 5 26,800 134,000
punudbtup 4,962,600
88. ££ Suymoh dwipgh «“BFhihywuh punupwyimmupwinh dwpquhwdwihpy £0UY
NN w ni dpwiinph nidw
/Y qnuph winjuinuip dﬁwﬂ;n pﬁmﬁﬂn ((J‘bh% q(rHlquil)E
npwi)
408 | ptuhuh utinuu Jnuyuqu 2 350,000 700,000
409 | pnugpwdwpunh nhug Jnuyuqu 1 2,720,000 2,720,000
410 | owjutiwnh juwunwpup hwwn 10 8,000 80,000
411 | owjudmwnh dudwgnyg hwwn 5 27,000 135,000
412 | dugigdwu yupwu hwwn 2 42,000 84,000
413 | dhuh $nunpnh nupyuwuh guug qnyq 2 32,000 64,000
414 | $munpnih qunuy hwwn 20 18,000 360,000
415 | yniypnih qunuy huwn 33,000 66,000
416 | pwultinpnih qunuly hwn 26,800 53,600
punudbtup 4,262,600
89. ££ Smynih dwpgh Aipnh «%uly Uhginufjuith wujw dwujuyumnuubjmu dwpqunuypng» KO0
uhunfnph
NN nuoh widwibnu swithh qmjph N gmuiwpp
/Yy anuph wtutimin dpwynpp | pwiuwyp (I(i‘gw%) (nnud)
417 | pdppwdwpnh gnpg dwdlngny Jnuyuqu 1 2,290,000 2,290,000
418 | dwupwann dwupgnidwyht mnudwpnjuug Inuyuqu 3 444,000 1,332,000
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419 | dhuh $mupnih nupyuu qnyq 2 470,000 940,000
420 | dwpduwdwpqujuu vunwpuu huwn 10 62,000 620,000
421 | pdppwdwpnp fupnyhjuy hwwn 3 78,000 234,000
422 | pnugpudwpunh mwuahy Jujunyh hwwn 3 56,000 168,000
423 | ptiuhuh utinuu Inwiuqd 2 350,000 700,000
424 | Jupdwuwpp Jnuyuqu 1 1,000,000 1,000,000
425 | puultiinpnih yuhwuwy Inuwiuqu 2 950,000 1,900,000

punudbtiup 9,184,000

90. Suywumnwth wpitimhlfuyh tintipughwm
Uhunynph
NN swiih qnyph gnuiwpp
nyph wujwunmu u
/Yy anuph wtutimin dpwynpp | pwiuwyp ar % (nnud)
(npw)

426 | wpitnhjulwu mupin Inwluqu 1 40,000,000 40,000,000
427 | wpittmhlulwu swthhy uwpp Jnuyuqu 1 7,200,000 7,200,000

punuudtiup 47,200,000

91. LQuyuuwmwuh dgymnnjh $tntipmghw
dhunfnph
NN swithh qmyph gmuwpp
nyph wujwund u
/Yy anuph wtutimin dpwynpp | pwiuwyp ar % (nnud)
(npu)

428 | aninnjh muwnwidh Inwiuqu 1 6,000,000 6,000,000

punudbiup 6,000,000

92. Zuyuunwith «Uhw» dwpqujun hwuwmpujulju juquwljipynipiniu
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uhunfnph

NN swiih qnyph gnuiupp
nyph wujwund u
Dy anuph wtutimin thunnpp | putp | I (npun)
(npu)
429 | pdppwdwnpnh gnpg dwdlngny Inuyuqu 1 2,290,000 2,290,000
430 | pnugpwdwpunh dwupqupwpe huwn 8 16,000 128,000
431 | duqgdwt yupwu huwn 5 42,000 210,000
432 | pnugpudwpunh wqunpy huwn 2 56,000 112,000
punudbup 2,740,000
93. Qwjwmumwuh pippwdwpnh $tnlipmghwm
Uhunynph
NN swithh qmyph gmuwpp
nyph wujwund u
/Yy anuph wtutimin dpwynpp | pwiuwyp ar % (nnud)
(npud)
433 | puppwdwpnh gnpg dwodlngny Inuyuqu 2 2,290,000 4,580,000
punudliup 4,580,000
94. «bhuwiny ympquijun hwuwpujujuu juqiuljipynipyniu
Uhunynph
NN swithh qmyph gmuwpp
nyph wujwund u
/Yy anuph wtutimin dpwynpp | pwiuwyp ar % (nnud)
(npu)
434 | puppwdwpunh gnpg dwodlngny Jnuyuqu 3 2,290,000 6,870,000
punudliup 6,870,000

95. «Cuywumnwuh wjwunulwu niynih $intipmghw» dmpqujuu hwuwpumjujuu juguiwullipynipiniu
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uhunfnph

NN swiih qnyph gnuiupp
nyph wujwund u
oy Anuph witinn dhwopp | putwtp | A (npuu)
(npu)

435 | pnugpwdwpuh wupl huwn 2 56,000 112,000
436 | pnugpwdwpunh mwudhly Jujunyh hwwn 2 56,000 112,000
437 | pnugpudwpunh dupqupup huwn 5 16,000 80,000

punudbiup 304,000

96. Suywunwith nuhmjuywmqph $tnlipughwm
Uhunynph
NN swithh qmyph gmuiwpp
nyph wujwunmu u
/Y anuph il ¢ dpwynpp | pwiuwyp aun (npwd)
(npu)

438 | nuhmyuywqph nuhmbutipn wquun néh 171-173 huwn 2 300,000 600,000
439 | puwhnywwugph nwhnifubp wquw néh 176-178 hwwn 3 300,000 900,000
440 | puhniyujugph nuhnijutp wquin néh 181-183 hwwn 3 300,000 900,000
441 | nuhmywyjwgph nwhnijutip wqun néh 186-188 hwuwn 3 300,000 900,000
442 | puhnijuuqph nuhmlutp nwuwlwi néh 186-190 hwwn 3 300,000 900,000
443 | nuhmyunjuqgph nuhnijutp puuwlwt néh 191-197 huwn 4 300,000 1,200,000
444 | nuhnijunjugph nuhmlutp nuuwlwu ngh 200-203 hwn 4 300,000 1,200,000
445 | hwhmywywgph thuwyntp 150-155 hwitn 11 70,000 770,000
446 | nuhniyuugph thwyntp 160-165 hwwn 1 70,000 770,000
447 | nwhnijuywqgph wdpwlutipn puuwlwu ndh hwwn u 42,000 462,000
448 | nuhnijurjugph wiipulutp wquin néh hwwn u 42,000 462,000
449 | {tinuwnwhmly 140 ud huwn 2 340,000 680,000
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450 | jtnuwnuhniy 145 ud hwwn 2 320,000 640,000

punudbtup 10,384,000

LurUUGLL 300,000,000
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